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sin?(a + B) - (sin? a +sin? )
= (sina cosf + cosasin B)? — (sin? a +sin? p)
=sin? acos® B+ 2sina cosasin BcosfB + cos® asin? S — (sin? a +sin? f)
=sin? a(cos® f—1) + 2sina cosasin fcosB +sin? B(cos’ a —1)
=—sin? asin? B+ 2sina cosasin fcosf —sin? gsin? a
=2sinasin g(cosa cosB —sinasin B) =2sin asin S cos(x + f)

a>0° f>0° a+B<180° Lk V. sin?a+sin? B=sin(a+p) DL E  cosla+p)=0

0°<a<90° & LT sina+sin,8=sina+sin(90°—a):sina+cosa=ﬁsin(a+45°)

45° < +45°<135° THHMN D i<sin(oz +45°) =1
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RO HEPEIL  l<sinag+sinB=V2 oo (&) FFRANLIL, a=p=45°D & X,

.o+ B =90°



